






Find the missing ONE (?)

(A) 90

(B) 45

(C) 36

(D) 72
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12 132 144

9 ? 81

7 42 49



Find the MISSING (?)

1. 3
2. 8
3. 7
4. 5
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3 4 5

8 7 3

6 3 8

0 ? 6



Find the option which should replace (?)
(A) 21

(B) 24 

(C) 35
(D) 37

8 27 17

4 6 6

14 51 31

11 ? 19



Find the option which should replace (?)

(A) 75  

(B) 95

(C) 65
(D) 85

6 5 4

11 9 7

? 56 33



Which number will replace the question mark ?

(A) 7 (B) 9

(C) 12 (D) 8

7 9 4

4 3 ?

6 8 9

84 108 126



Statements:
Some questions are quizzes.
Some quizzes are not queries.
Conclusions:
All queries being quizzes is a 
possibility.
All quizzes being questions is a 
possibility.

EXAMPLE

कथन: 
कुछ प्रश्न प्रश्नोत्तरी हैं।

कुछ के्वश्चन के्वश्चन नही ींहैं।

ननष्कर्ष: 
सभी के्वश्चन के क्वक्वज होने की

सींभावना है।

सभी क्वक्वज़ के प्रश्न होने की

सींभावना है।



Statements:
Some questions are quizzes.
Some quizzes are not queries.
Conclusions:
All queries being quizzes is a 
possibility.
All quizzes being questions is a 
possibility.

EXAMPLE



Statements:

All clerks are professors.

No professor is a doctor.

All doctors are managers.

Conclusions:

No manager is a clerk.

All professors being managers is 
a possibility.

EXAMPLE

कथन: 
सभीक्लकष प्रोफेसर हैं।

कोई प्रोफेसर डॉक्टर नही ीं है।

सभी डॉक्टर मैनेजर हैं।

ननष्कर्ष: 
कोई मैनेजरक्लकष नही ीं है।

सभी प्रोफेसर के मैनेजर होने की

सींभावना है।



Statements:

All clerks are professors.

No professor is a doctor.

All doctors are managers.

Conclusions:

No manager is a clerk.

All professors being managers is 
a possibility.

EXAMPLE



Statements:

All books are toys.

Some toys are notebooks.

No register is a notebook.

Conclusions:

Most of the toys are not 
registers.

All notebooks being books is a 
possibility.

EXAMPLE

कथन: 
सभी नकताबें क्विलौने हैं।

कुछ क्विलौने नोटबुक हैं।

कोई रनजस्टर नोटबुक नही ीं है।

ननष्कर्ष: 
अनिकाींश क्विलौने रनजस्टर नही ीं

हैं।

सभी नोटबुक के बुक होने की

सींभावना है।



Statements:

All books are toys.

Some toys are notebooks.

No register is a notebook.

Conclusions:

Most of the toys are not 
registers.

All notebooks being books is a 
possibility.

EXAMPLE



Statements:

Some crops are drops.

All drops are pearls.

No crops are wishes.

Conclusions:

No wish is a drop.

All drops being wish is a 
possibility.

EXAMPLE

कथन: 
कुछफसल ब ूँदें हैं।

सभी ब ूँदें मोती हैं।

कोई फसल इच्छा नही ीं है।

ननष्कर्ष:
कोई इच्छा एक ब ींद नही ीं है।

सभी डर ॉप्स के नवश होने की

सींभावना है.



Statements:

Some crops are drops.

All drops are pearls.

No crops are wishes.

Conclusions:

No wish is a drop.

All drops being wish is a 
possibility.

EXAMPLE



Statements:

Only Rama is a clerk.

100% honest are Rama.

Conclusions:

I. All Rama are honest.

II. All clerks being honest is a 
possibility.

EXAMPLE

कथन: 
केवल राम एकक्लकष है।

राम १००% ईमानदार हैं।
ननष्कर्ष: 
सभी राम ईमानदार हैं।

सभीक्लकष के ईमानदार होने की

सींभावना है।



Statements:

Only Rama is a clerk.

100% honest are Rama.

Conclusions:

I. All Rama are honest.

II. All clerks being honest is a 
possibility.

EXAMPLE



Statements :

A few figures are images.

0% snaps are images.

Conclusions :

I. Some figures are not snaps.

II. All images being snaps is a 
possibility.

EXAMPLE

कथन: 
कुछ नफगर इमेज हैं।

0% सै्नप इमेज हैं।
ननष्कर्ष: 
कुछ नफगर सै्नप नही ींहैं।

सभी इमेज के सै्नप होने की

सींभावना है।



Statements :

A few figures are images.

0% snaps are images.

Conclusions :

I. Some figures are not snaps.

II. All images being snaps is a 
possibility.

EXAMPLE



Statements :

Only fantastic are fans.

No fans are fabulous.

Conclusions :

I. No fantastic being fabulous is a 
possibility.

II. Some fabulous are fantastic.

EXAMPLE

कथन: 
केवल शानदार प्रशींसक हैं।

कोई प्रशींसकशानदार नही ींहैं।

ननष्कर्ष: 
नकसी शानदार के शानदार होने

की सींभावना नही ीं है।

कुछ शानदार शानदार हैं।



Statements :

Only fantastic are fans.

No fans are fabulous.

Conclusions :

I. No fantastic being fabulous is a 
possibility.

II. Some fabulous are fantastic.

EXAMPLE



Statements :

All toys are tasks.

No task is a tree.

Conclusions :

I. No tree is a task.

II. A few tasks are toys.

EXAMPLE

कथन: 
सभी टॉय टास्कहैं।

कोई टास्कटर ी नही ीं है।

ननष्कर्ष: 
कोई टर ी टास्कनही ीं है।

कुछ टास्क क्विलौने हैं।



Statements :

All toys are tasks.

No task is a tree.

Conclusions :

I. No tree is a task.

II. A few tasks are toys.

EXAMPLE



Two positions of dice are shown using A to F letters. What 

will appear on the opposite to the face containing B?

(A) F (B) C
(C) E (D) CND

C
D

B

B

F

A



Two positions of dice are shown. What will appear on the 

opposite to the face containing Brown?

(A) Blue  (B) White

(C) Red (D) Green

Red

Blue

White

Red



Find the missing ONE (?)

FATHER = 3
GANGULY = ?

(1) 4
(2) 2.5 
(3) 3 
(4) 3.5



Find the missing ONE (?)

CLIENT = 2
ANIMATION =?

(1) 4
(2) 5 
(3) 6 
(4) 7


